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Il 2,500
= 500
Al 2,000
206 M=l 5,000 6,000 21,000




SN A2
B AAST(22A/22A0S)
¢l a2l & =2 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 2,500
=S 500
Al 2,000
01 2 5,000 6,000 A1,000
OFLALE W27
2,500,000 22 5,000
7l 2,500
= 500
Al 2,000
A g B2 NS (SRHLST) 9,000 8,000 1,000
Jl 4,500
= 900
Al 3,600
201 fer=2 3| 6,000 4,500 1,500
Il 3,000
= 600
Al 2,400
01 AtR2telHl 3,000 3,500 A500
MogRpEspl Z20 2o
3,000,000 3,000
Il 1,500
= 300
Al 1,200
03 A= I 3,000 1,000 2,000
OM-lgBABBD| BA 2
3,000,000& 3,000
Jl 1,500
= 300
Al 1,200
206 M=H| 3,000 3,500 A500
Il 1,500
= 300
Al 1,200
01 M=4l 3,000 3,500 A500
OdlLga 2elAtE =l
3,000,000& 3,000
Il 1,500
= 300
Al 1,200
AL EHANS (SEALSA) 50,000 52,000 /2,000
Il 25,000
= 5,000
Al 20,000
307 el2tol & 50,000 52,000 /2,000
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M A2
) HASA(ZA/L2492)
¢l a2l & =2 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 1,460
Al 1,460
01 At2tltl 2,920 2,940 V()
Oftgaet A& & ABXZAL M2t &
LI E (FMTP) 2,920
Il 1,460
Al 1,460
202 04| 1,000 1,000
01 2K 1,000 1,000
Ottgder AI[al & HAZAL 20t &
LK E (FMTP) 100,0002 x1& x102 1,000
FelEE X124l K& 6,000 2,650 3,350
= 3,000
== 600
Al 2,400
301 2= 6,000 2,650 3,350
= 3,000
= 600
Al 2,400
01 Al 2E A S (FREXMA) 6,000 2,650 3,350
OEuEEX XI=HIXS 6,000,000& 6,000
= 3,000
= 600
Al 2,400
aroe & BAALSTALXIA(O1Z) 25,544 30,544 5,000
Jl 12,772
T 2,554
Al 10,218
307 el2to| & 25,544 30,544 /5,000
) 12,772
= 2,5%4
Al 10,218
05 21t =S 25,544 30,544 /5,000
OXNS A0 & JAATSUAIY 2
25,544,000 25,544
Jl 12,772
= 2,5%4
Al 10,218
IZ=ZAUAUSXNLE A0S AY X2 37,036 36,095 94
) 18,518
& 3,703
Al 14,815
307 glztol & 37,036 36,095 94
Jl 18,518




SN A2
B AAST(22A/22A0S)
¢l a2l & =2 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 3,703
Al 14,815
05 2ItRIE = 37,036 36,095 941
O =ELUALSXHE AH0SAIY X2
37,036,000& 37,036
Jl 18,518
< 3,703
Al 14,815
JI=g AL =NNHE oHES 524,440 561,600 A37,160
Jl 262,220
[ 52,444
Al 209,776
307 glztol & 524,440 561,600 A37,160
Il 262,220
== 52,444
Al 209,776
05 2IR”tRIE = 524,440 561,600 A37,160
OIEHANHLSTHE 0lisE
524,440,000 524,440
Il 262,220
s 52,444
Al 209,776
JI=8 FUALTSAEH 29 51,100 51,100 0
Jl 25,550
=S 5,110
Al 20,440
307 21201 & 51,100 51,100 0
Jl 25,550
= 5,110
Al 20,440
05 212t =S 51,100 51,100 0
OJI=€ AL =XNHEH 24
51,100,000 51,100
Il 25,550
= 5,110
Al 20,440
S ALSH 130,000 184,600 A\54,600
Il 65,000
= 13,000
Al 52,000
307 el2to| & 130,000 184,600 ~\54,600
) 65,000
= 13,000
Al 52,000
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B AAST(22A/22A0S)
¢l a2l & =2 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 130,000 184,600 ~\54,600
osgguAdsd 130,000,000 130,000
Jl 65,000
< 13,000
Al 52,000
et K= AASAHHIA XA 50,000 59,095 29,095
Jl 25,000
< 5,000
Al 20,000
307 212+01& 50,000 59,095 29,095
Jl 25,000
=S 5,000
Al 20,000
05 eit?(& = 50,000 59,095 29,095
OXed ==& 50,000,000 50,000
Jl 25,000
= 5,000
Al 20,000
EHEEE XszZ 5,000 5,000 0
307 @I2t01 & 5,000 5,000
05 2IR”IRIE = 5,000 5,000
OFEBZRI 5,000,000 5,000
XIOHeteMIE 29 280,000 280,000 0
Il 224,000
== 11,200
Al 44,800
201 =3 128,000 107,500 20,500
7l 102,400
= 5,120
Al 20,480
01 AtR2tc|HI 66,000 64,000 2,000
OXIHtAHIE! 28 AtR2eld]
66,000,000 66,000
7l 52,800
= 2,640
Al 10,560
02 s3=gHl 1,500 1,500 0
OXIH et HIE SS2EH|
1,500,000 1,500
Jl 1,200
=S 60
Al 240
03 A2 I 60,500 42,000 18,500
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) HASA(ZA/L2492)
¢l a2l & =2 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXIDHOrAlMIE D2 jped
60,500,000& 60,500
Jl 48,400
< 2,420
Al 9,680
202 04l 6,000 2,000 4,000
Jl 4,800
[ 240
Al 960
01 SLHoIH 6,000 2,000 4,000
OXIOHQtA MIES =LHO4HI 6,000,000& 6,000
Il 4,800
== 240
Al 960
206 MH=HI 30,000 30,000 0
Il 24,000
== 1,200
Al 4,800
01 M= HI 30,000 30,000 0
OXIOHRtAHE =2 082S HEFY
30,000,000 30,000
Jl 24,000
=S 1,200
Al 4,800
301 2eEN= 116,000 140,500 A\24,500
Jl 92,800
=S 4,640
Al 18,560
01 Al EE AL S(FREXH) 70,000 86,000 16,000
OXIiB & & 2|3
70,000,000 70,000
7l 56,000
S 2,800
Al 11,200
11 AALEIXIES 14,000 19,500 25,500
OXIHAIY 23 2 SAHL 29
7,000,000 7,000
Jl 5,600
s 280
Al 1,120
OXIOH2txt OEX2AIE 2
5,000,000& 5,000
Il 4,000
== 200




M A2
) HASA(ZA/L2492)
¢l a2l & =2 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 800
OFZXH=0l BB DA S
2,000,000& 2,000
Jl 1,600
S 80
Al 320
14 J|Et2a s 32,000 35,000 23,000
OXIOHOHIMIE] SEtOA} g
18,000,000 18,000
J| 14,400
=S 720
Al 2,880
OXIHAY SALR 2E 2,000,000& 2,000
Jl 1,600
=S 80
Al 320
OSa2 BRI MES X2
12,000,000 12,000
Il 9,600
s 480
Al 1,920
XIHXI S 2l X2 (M EA) 105,000 115,000 10,000
= 48,000
Al 57,000
301 LEtE NS 25,000 25,000 0
02 ANRI2HHSFHS(HAAS, X ) 25,000 0 25,000
OXIHEN, =28 ¥ 2eEF (XEA) 25,000
308 AXIHSO0IA 80,000 90,000 10,000
=S 48,000
Al 32,000
18 SIS AS A 80,000 90,000 210,000
OXIHXIZ 2teldl (/b)) S X 80,000
< 48,000
Al 32,000
SSA =R SS=ANZALE 975 890 85
Jl 780
== B
Al 97
201 2= 575 490 85
J| 460
=S 58
Al 57
01 At 2|l 575 490 85
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SA A2
M AUEZ(PA/LAAAR)
¢l a2l & =2 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 15,000 0 15,000
= 4,500
Al 10,500
05 212t =S 15,000 0 15,000
OMYTIZO0l ARZE BE X
15,000,000 15,000
=S 4,500
Al 10,500
EHEHAI RUHS0IROI0ID IS HIE! HE 827,000 0 827,000
EHEHAl R HEH0I&0H012 | SHIH 2HE 827,000 0 827,000
401 AlEHIZ SO 827,000 0 827,000
01 Al&HI 12,000 0 12,000
OB 228l & =8 S 12,000
02 Zeltl 810,000 0 810,000
ORLHX0ILOI017ISHEH AL AL 2t2(HI(
Zeldl) 810,000
03 AlESTHYI 5,000 0 5,000
OHHGR0[80101FISHE Al 20 5,000
ALUMETEEH =29 116,165 93,881 22,284
AYMEXNREEH 22 116,165 0 116,165
101 @124H| 18,613 0 18,613
M ORINZZ2NSE S 18,613 0 18,613
OB AHE 2 FA2 JI2tHZ2
CONI=ES 18,613
S 59, 1602 x 12 *206 12,187
oFsaYg 59,1603 »1&8 442 2,604
o ZHAH| 5,000 * 18 »206! 1,030
oItRaErd 59, 160& 10 592
ocHESIHI 500,000 x12+13] 500
cAUEE = 1,700
201 et 3| 23,452 23,452
01 AtR2tc|Hl 3,222 3,222
Osgll U= 154,000 9 1,386
Od=Jl gz 54,0002 +x0Z 486
OMFES € HHEZ2E =22 78 IS
100,000 0 900
O8E= H& € 222 78 S
50,0002 %02 450
2 S52g4l 270 0 270
ORugs ME= 30,0002 +x0Z 270
03 Ar=EHI 19,960 0 19,960
OAHZUSXHE N2 JHA
6,000,000& 6,000
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SN A2
M AZYRAZHI(AZD) (OIEHIIE)
chol: ol (19 @)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
HH2IAH(A2) (IEH/DIE 703,066 796,440 N93,374
= 17,465
= 79,417
Jl 253,331
= 49,720
Al 303,133
el 2| 677,006 777,510 100,504
= 17,465
s 79,417
Jl 253,331
= 49,720
Al 277,073
2 |(SEALSTAIY 161,260 199,777 138,517
Il 80,632
== 16,124
Al 64,504
101 @124H| 161,260 199,777 A38,517
Il 80,632
[ 16,124
Al 64,504
03 BRA(RIHAL)22NHE S 161,260 199,777 N38,517
OSEHLETMNY 22X Ex(4Y) 161,260
SPES= 102,986
-1528 2,338,505« 1F 122 28,063
Il 14,034
= 2,804
Al 11,225
82 2,119,488 2H 123 50,868
Il 25,431
< 5,085
Al 20,352
43S 2,004,542« 1H« 122 24,055
Il 12,028
= 2,406
Al 9,621
odI2+g 6,321
-155=(104 014})
2,338, 5053 * 1 x22] 5% 2,339
Il 1,170
= 234
Al 935
-853(84 0/eh)
2,119,488 x 13 x22] x35% 1,484
Il 742




SN A2
B #E2AY| (A3 D) (OIEHIIED
Sel: ol 2| (o9 5
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
= 148
Al 594
852 (9% 09
2,119, 488& x1H %23 *40% 1,696
J| 848
= 170
Al 678
-AS =2 (54 0]8H)
2,004, 5423 x1H %23 %20% 802
J| 401
o= 80
Al 321
oHESIIH| 10,300
-55= 2,338, 505& *1H x25| *60% 2,807
J| 1,404
& 281
Al 1,122
-85 = 2,119, 483& x2H x25| *60% 5,087
J| 2,544
& 509
Al 2,034
453 2,004, 5423 *1H %23 *60% 2,406
J| 1,203
& 241
Al 962
ol IRaFIIrE 8,533
-155= 130,420 * 18 2,348
J| 1,174
== 235
Al 939
8&= 119, 1483+ 18 x2H 4,290
J| 2,145
& 429
Al 1,716
453 111,457& =17 1,895
J| 948
& 190
Al 757
cIliEsY 40,0003 x2H * 12& 960
J| 480
& B
Al 384
o JI A X&H| 80,0003 x4 122 3,840
J| 1,920




SN A2
. HZ2I3HI(A2 ) (OIEHIIE
chol: ol (19 @)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
< 384
Al 1,536
odAG A 140,000 x4 * 122 6,720
Jl 3,360
< 672
Al 2,688
SRal=Eat= 90,0002 x4 x 12 4,320
Jl 2,160
< 432
Al 1,728
oXd+=g 150,000 x4 * 12 7,200
Jl 3,600
< 720
Al 2,880
oSURrY 50,0002 x4 x 12 2,400
Jl 1,200
< 240
Al 960
oo g2dlRed 50,0002 x2& » 122 1,200
Jl 600
S 120
Al 480
oo gURed 20,0002 x 18~ 122 240
Jl 120
S 24
Al %
oXRd 130,000 x4 * 122 6,240
Jl 3,120
== 624
Al 2,49%
HA2IHI(HYRRXNAAIY) 41,674 38,955 2,719
Il 2,400
== 1,200
Al 38,074
101 e124d| 41,674 38,955 2,719
7l 2,400
= 1,200
Al 38,074
03 SR (RIH )22 U2+ 41,674 38,955 2,719
OZX=ZAANE 22X 2 41,674
=Jl2s 26,088
-105S(BFLRH)
2,156,082 1863 10,781




SN A2
M HYH2HFH(AZ) (OIEHIIE})
=9 elmEet| (EH9): ®2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
| 2,400
= 1,200
Al 7,181
NER(BHULH)
2,186,639 x 18«73 15,307
oxDLg 2,173
-052(HHALH)
2,156,082 *50%* 100%* 13|« 1 1,079
1152 (FFARR)
2,186,639 *50%* 100%* 13|+ 1 1,094
o HEZ I 2,606
-0SE(BHAD)
156, 0802160+ 131415 1,204
152 (FFARR)
2,186,639 60+ 12| x 14 1,312
COUNRDLL (052 HBADR)
106, 40621+ 152412 1,597
oXSH(HAT, T4 01/, IIE, WD, A5
=2) 680,000& *123] x1H 8,160
SAIZIRIZ2R+H 19,9512 *133|x 15 260
of|AZ2RsY 8,000 x5 1231 480
oEZ&H| 20,0003 #1431 280
o Z=Z| 10,0002 #3314 30
oIHAIHI(NISAEIEA 2HXR) 83,000 81,430 1,570
| 30,029
& 6,007
Al 46,964
101 el t| 83,000 81,430 1,570
J| 30,029
= 6,007
Al 46,964
03 SR (RIAHY) 22T E > 83,000 81,430 1,570
oJlz3(12ss) 2,201, 7423+ 18+ 128 26,901
| 13,450
= 2,690
Al 10,761
oJl23(10ss) 2,179,502 1P+ 12& 26,156
| 13,078
= 2,616
Al 10,462
OF24E(104 0l4H)
2,241, 7423 50%*23| 2,242
O&Z2E(74 012})
2,179,500& *30%*23| 1,308




M A2
. HZ2I3HI(A2 ) (OIEHIIE
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OgEZIMI(1288)
2,241, 7423 23| x6(f% 2,691
Jl 1,345
[ 269
Al 1,077
OYEZIHI(10583)
2,179,5003 22| x6(0f% 2,616
) 1,308
< 262
Al 1,046
OuxtraEx =4 1,696,000& 1,69
) 848
< 170
Al 678
Ogxt=a8xzt=E 1,270,000 1,270
OIE+e 40,0003~ 1 ~122 480
OJEx=g 140,000& x 12+ 123 1,680
OIH28=E 80,000 =2 * 122 1,920
OdHZ Al 140,000 <2 * 123 3,360
Oflg=g 90,0002 x2& 122 2,160
O&d+¢< 150,000& x2&+ 123 3,600
OS=g2=+g 50,0002 28 122 1,200
Oozggesg 50,0002 x 18 » 122 600
Oxe=g 130,000 x2&* 12 3,120
QAR HH|(KILAMSISHTHEAIS) 45,718 44,501 1,217
= 17,465
= 3,493
Al 24,760
101 @124H| 45,718 44,501 1,217
= 17,465
< 3,493
Al 24,760
03 SR (RINHA) 222+ 45,718 44,501 1,217
OJl=Es(178s) 2,405,166« 1812 28,862
= 11,628
== 2,324
Al 14,910
og2+4((1783)
2,405, 1663 x 12 %28 50% 2,406
= 833
< 167
Al 1,406
OYEZIMI(1788)
2,405, 1662 x22| x60f% 2,887




SN A2
I WZ2AAH (LI OIEHIIEN
cel: olzt=2ay) (crol: M el)
A - B G(3H) - NRAY - HES ol ke G o HlmS2
= 99
= 200
Al 1,688
Ogxtrazit=< 155, 722318 2,803
= 970
& 194
Al 1,639
OS4d245 50,0002 12 600
= 208
= 42
Al 350
ORgsY 90,0002 128 1,080
= 374
& 75
Al 631
O&A&A+Y 150,000& * 12& 1,800
= 623
& 125
Al 1,052
(OFSPLI=EaTL] 140,000& « 12& 1,680
= 582
& 116
Al 982
OIIAHEE =Y 80,0003 *12& 960
= 332
= 66
Al 562
ooz 50,0003 *12& 600
= 208
= 42
Al 350
OXERY 130,000 12& 1,560
= 540
& 108
Al 912
OJE=Y 40,0003+ 12& 480
= 168
= A
Al 278
OIH2YH|(LU2BAHZLIAIY 2124H]) 170,017 198,420 A28,403
= 79,417
& 15,883
Al 74,717
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HI(AZ
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)(O1EH/D1EL)

iI

M- 33 - SA(3) - MRAI

- ESS

Ofl &F2H

HMEE
Ofl &k2h

101 e124d|

Mo

170,017
79,417
15,883
74,717

198,420

4
fol
Ot

2,210,413 x18~ 128

2,149,200« 1H 122

2,119,488« 1H 122

2,090,090« 1Z 122

2,210,441 500+ 12 #22]

2,149, 2993 x45 1 H #22

2,119,488 x40+ 1 #22

2,090, 0992 35+ 1 #22

2,210,441 <23 +6(%

= mn iy = 04 = mn M4

SRR

=

SRR = n M = n M4

=

SRR

&Y

170,017
170,017
102,834
26,526
13,263
2,653
10,610
25,792
12,8%
2,580
10,316
25,434
12,717
2,543
10,174
25,082
12,451
2,508
10,123
7,306
2,211
1,105
221

885
1,935
967

193

775

848
170
678

732
146
586
10,286
2,653
1,327

198,420

228,403
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x

CFB SIS - MRAY - BES

HMEE
Ofl &k2h

ol
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1,061
2,580
1,290

258
1,032
2,544
1,272
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1,018
2,509
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1,004
7,200
3,600

720
2,880
6,720
3,360

672
2,688
4,320
2,160
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1,728
2,400
1,200
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3,120
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SN A2
I WZ2AAH (LI OIEHIIEN
chol: ol o] (el o)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
ACETE=BY=TEIEY)
50,0003 «2Y =123 1,200
= 600
= 120
Al 480
o MBI SR 2L (ALSI S XA}
30,0003 «2Y 123 720
= 360
T 72
Al 288
clAaASE 5,379,000& 5,379
= 1,775
= 337
Al 3,267
o IS A 9,172
-nss 15,570 *BA| 2++21L 2,616
Vs = 15, 140 *BA| 2+% 19! 2,302
852 14,8903 *BA| 2+% 18 2,145
1338 14,6402 xBA| 2t 18 2,109
QI HYI(XIOHHAIMEI 2 H KA ) 175,337 170,000 5,337
J| 140,270
= 7,013
Al 28,054
101 2124 d| 175,337 170,000 5,337
| 140,270
= 7,013
Al 28,054
03 SR (RIAHL) 22X B4 175,337 170,000 5,337
ORIt MIE 22X 24-(SEARA 401) 175,337
o2 101,747
9= 2,149,209 x2F 123 51,584
J| 41,267
& 2,063
Al 8,254
1338 2,090,009& x2H +12& 50,163
J| 40,130
T 2,007
Al 8,026
SEFSE=wi] 10,176
VS = 2,149, 299& *x60%+2 3| x2H 5,159
| 4,127
& 206
Al 826
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Chel: ol (el &
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
== 2,090, 0993 x60%*2 3| x2H 5,017
| 4,014
T 201
Al 802
cHXFI=E 8,047
V5= 121, 165 182 »2H 4,362
J| 3,227
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Al 974
== 108,360 * 172 x2H 3,685
| 2,947
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Al 591
oZdI2aY 6,7%6
VS = 2,149, 2993 *45)*2 3| x2H 3,869
| 3,09
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13 2,090, 0993 *35%*23] x2H 2,927
J| 2,342
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clAaLsSE 2,062,000 *4H 8,248
J| 6,59
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Al 1,319
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T 1,229
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& 24
Al %
NI INES =y 30,000 x 1201 & 3% 1,080
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2 - IE
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| | Al 173
J123H 26,060 18,930 7,130
Jl23t 26,060 18,930 7,130
201 er=3| 21,180 15,150 6,030
01 At22t2l] 19,680 13,650 6,030
OAtR2tell 19,680
oRNE2EJ 28I 240,000& 12 2,880
SANREE FU(SA &)
250,000& 12 3,000
SHIARID| A28 PAU(EH S)
1,200,0002 *42] 4,800
oHIARII| SXE
110,000& ~12& 1,320
oAt SE|
8,0003x16H+5&~ 123 7,680
02 S3=gHl 1,500 1,500 0
O=g RB=E S 125,0003 122 1,500
202 04| 1,280 1,200 80
01 SLHoIH 1,280 1,200 80
Oul&2% 20|
20,0002 * 16 *42] 1,280
203 HR=AH] 3,600 2,580 1,020
(U A egehes B tarSlal 3,600 2,580 1,020
ORANEg g4yl 300,000& 12 3,600




